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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility te encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, cheose ONLY ONE response for each item,

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

{i)  There are four alternatives for the answer to every question. For each question for which a wrong answer

has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.
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1. 5'7+5%8 4519452 55 divisible by 5.

(@) 7
) 9
() 11
d) 13

2. If a + b = 2c, then what is the value of
a ¢

+ ?
a-¢ b-c
6.
(a -1
(b) 0
e) 1
d 2

3. Ifx=yl y = z"? and z = x'¢ where x # 1,
y# 1, 2= 1, then what is the value of abe ? ",

(a) -1
b 1
(Y
@ 3

4, If 2b=a+c and y° = xz, then what is

xP-Cyt=2z8=b oqual o ?
(a) 3
(b) 2
© 1
d -1
SPSS-T-XHI (2-A)

Which one of the following is correct ?

(a) Decimal expansion of a rational number
is terminating.

(b)  Decimal expansion of a rational number
is non-terminating.

() Decimal expansion of an irrational
number is terminating.

(d) Decimal expansion of an irrational
number is  non-terminating and
non-repeating.

If the roots of the equation px® + x + r = 0 are
reciprocal to each other, then which one of the

following is correct ?

(a) p=2r
(b} p=r

() 2p=r
(d) p=4r

If 656x — 33y = 97 and 33x - 65y = 1, then
what is xy equal to ?

(a) 2
(b) 3
(€0 -2
d -3

If E+E=l and E+£=1, then what is
y ¢ z a

ab+ xy

- equal to ?
(@) 1
by 2
) O
d) -1
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1 57458519, 520 foroa v g 2 5.
(@) 17
by 9
¢ 11

d 13

2. ?{faa+b=2c?,?ﬁ 2t wmumem
a-c¢ -

27 6.

3, ;M x=yle yzzwaﬂ'(z=xm3|ﬁxﬁl, 7.
y#1, z:el%,?ﬁabcﬁ[m:f'ﬁl%?

(a) -1
by 1
) 0
d 3
4, qRE %b=a+c IMyl=xz B, A 8.
sD-cye-a,8-b Ffmh W E 7 '
(a) 3
b) 2
() 1

dy -1

SPSS-T-XHI (3-A)

foffEd e smmad 8 2

(a) UNAT GET I TIHAE THR | BT R |

(b) AT W& FT WHG YA IFGEET B
21

(¢) T T&; F WHd TER Fid B
2|

(d) UEE T F TOFE TER IFEEH!
aft st g 2

ﬂﬁﬁ‘ﬂmpxga-xa-rzoa?%t%»«@&
o 8, Al e d a s adt 3 2

(a)
(b)

p=2r

(¢ 2p=r
d

M 65x - 83y =97 AR 38x—-65y =1 8, A
xy ForEF T R 7

(a) 2
by 3
) -2
(d)

A DyZog el SaXog g, @ ARYW
y ¢ Z a bx

foress st 2 2

(@ 1
(h) 2
{cy 0

d -1
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9. If = 5, then what is the value of
ab -1 "
a®
(a) 125
(b) -125
(¢) 140
d) -140
10. If x+y+z=0, then whatis
(y+z-x°+(z+x-yP +(x+y-2)° equal
to?
(@) (x+y+2)°
by 3x+y)y+z)(z+x)
(¢) 24xyz
(d) -24xyz
11. If (x + 8) is a factor of x3 + 3x% + 4x + k, then
what is the value of k 7
(a) 12
(b) 24
() 36
d 72
12. The smallest integer with 4 digits which is a
perfect square is
(a) 1000
(b) 1024
() 1089
(d)  None of the above
SPSS-T-XHI

13.

14.

15.

(4-A)

Which one of the following is a zero of the
polynomial 3x3 +4x%-7 ?

(a 0
b 1
e 2
@ -1

There are two numbers which are greater
than 21 and their LCM and HCF are 3003 and
21 respectively. What is the sum of these

numbers ?

(a) 504

(b) 508
(¢} 514

d) 528

If @ and B are the roots of the equation
ax? +bx +c= 0, then what is the value of the

expression (o + 1) (B + 1) ?

a+b+ec
a

(a)

b+e-a

(b}

a-b+c

(c)

@ a+b-c
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o qﬁa:—lsava}as—lmmm%? 13. agqasxﬁwx?m?mrw‘,ﬁr_:rmaﬁ%

a® TR
{a) 125
(a) 0
by -125
{c) 140 w1
@ —140 {e) 2
{(d} -1

10, Ik x+y+z=0 g, @
(yrz-xP+z+x-yP+x+y-2°

T ? 14, 2 vEnd 9 213 W § ot I Lo

{a) (x+y+z)3 . :
3 HOF %9 3003 3T 218 | 39 9&01ad &1

(b) 3x+y)y+2)(z+%)

TGS T § ?
(¢) 24xyz
() - 24xyz (a) 504
(b} 508
11. ﬂﬁ(x+3},x3+3x2+4x+k3ﬁ@W%, (C) 514
ARFI AT TR ? |
(dy 528
(@ 12
h 24
© 3 15. IR o I p GHT ax? + bx + ¢ = 0% A &,
@ B NETH 0+ DB+ DFTAA TR ?
o (a) a+b+e
12, 4 3 %1 gEQ Bie1 TIiE It o g i o R, a
ffafaa 4 g sa 2 2
b b+c—a
(a) 1000
(b) 1024 (C) a-b+c
a
{c) 1089
@ s i a e | @ 2t2oc
SPSS-T-XHI | (5-A)
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16. The remainder when 3x% + kx® + 5x - 6 is
divided by (x + 1) is — 7. What is the value of
k?
(a) -14
(by 14
(e =7
d 7
17, If flx) and g(x) are polynomials of degree p
and g respectively, then the degree of
{fix) + g(x)} (if it is non-zero) is
(a) Greater than min(p, q)
(b)  Greater than maxl(p, q)
(¢) Less than or equal to max(p, q)
(d) Equal to min(p, q)
18. What is the value of M -~ -—5+—J§ ?
B5+3 -3
(a) -2415
(b) 2415
€ 15
@ -v15
19. What is the value of
1 + 1 +
1+xP-8 4xc-2  14x2-byye-
1
1+x2-¢ 4 xb-¢
where x # 0 ?
(a) -1
(b) 0
(¢e) 1
d) 3
SPSS-T-XHI
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20b

21.

22,

23.

(6-A)

The sum of a number and its square-is 20.
Then the number is

(a)
(b)

—-50r4
20r3
(¢) -5only

(d 5or-4

If the price of wheat rises by 25%, then by how
much percent must a man reduce his
consumption in order to keep his budget the
same as before ?

15%
20%
© 25%
30%

L of the students who registered did not

25

appear for the examination, 1—(1} of those who

appeared passed. If the number of registered

students is 2000, the number who passed is

(a) 1920
(b) 1056
(e) 1020
{d) 864

What is the difference between 0-9 and 097
(a) 0

(b) 0099
() 01

(d) 009




16. F@ 3 +kx® +5x -6 ¥ (x+ DH WM |20, v gy ot 36 o w1 ATEA 202 1 A T8
AR A - 7AT TS | kR AT FME ? g 2
(ay -14 (a) ~53YAT4
by 14 (b) 2 ¥YAT3
€ -7 (¢) HEA-5
@ 7 (d) 53 -4
17. jﬁﬁﬂx)ﬁ?g{x;;ﬁﬂ:%?ﬁpgﬁ(ggﬁa?aga 21. qﬁﬁ'&@;'{:ﬁq(m) 95% w1 7, A1 TF =AM
+ g(x) :
T () £ g00) (714 72 I ) S g S
{a) min(p,q)ﬁﬁl@
) max(p, ¥ T wifRe, A Fae T TES S & @ ?
{¢) max(p,q) % I I THH F (a)  15%
(d) min(p, q) F T b 20%
-5 s+ 3 ey 25%
-3 5+43
18. - FOF TR 7
B+d3 -8 ? d) 30%
(@) -2415 22.@@?@%%%qﬂm%%q3ﬁ%qﬁ
_ 11
® 2415 W N W g e oo S gk
© i Tefigpa BT 1 EE 2000 2, aF Il B I
Bl o gen fraf } o
d -v15
(a) 1920
19 Zl—uti“"“"i+:s:;‘:"a * 1+xﬁ“;+x°‘b * v
‘ (© 1020
1
PTECIRr (d) 864
TRl x= 08, H A FM 8 ? _ *
23. 09 3 0-9% = w FWER?
fa) -1
(a) 0O
(by O
(b) 0-099
ey 1 © 01
@ 3 @ 009
SPSS-T-XHI {(7T-A)

https://www.pygonline.com




24,

25,

26.

27.

IfA:B=1:2 B:C=3:4C:D=2:3
and D:E =3:4, then whatis B : E equal to ?

(a) 3:2
b) 1:8
) 3:8
d 4:1

A work when done by 10 women is completed
in 12 days. The same work can be completed
in 8 days when done by 5 men. How many
days will it take to complete when 6 women
and 3 men are employed to perform the same

job?

(a) 12
(by 10
(e 8
(d 5

A man undertakes to do a certain work in
150 days. He employs 200 men. He finds that
only a quarter of the work is done in 50 days.
How many additional men should he employ
80 that the whole work is finished in time ?

(a) 175

(b} 85
(c) 100
(d) 120

A train moving with a speed of 60 km per hour
crosses an electric pole in 30 seconds. What is
the length of the train in metres ?

(a) 300
(b) 400
() 500
(d) 600
SPSS-T-XHI

28.

29.

30.

(8-A)

T 120 is distributed among A, B and C so that
A’s share is ¥ 20 more than B's and T 20 less
than C’s. What is B’s share ?

(a) T10
(b T15
(e T 20
d ¥25

In the following table of inverse variation,
what are the values of A, B and C

respectively ?

M 15 -6 2 C
N -4 A B 60
(a) 10,-30,-1
(b) 10,-1,30
() -30,10,-1
(d -1,-30,10

A person borrowed ¥ 5,000 at 5% rate of
interest per annum and immediately lent it at
5-5%. After two years he collected the amount
and settled his loan. What is the amount

gained by him in this transaction ?

(a) 25
b T50
(¢ 100
(d) 200

https://www.pyqgonline.com




24, M A:B=1:2 B:C=8:4 C:D=2:328. ABINCH T 12038 YHN s 91d & f5 A

WM D:E=3:4%, T B: E foreeh srmt & 7 F AN BF FW YT 20 R ¢ 3 CFH FW
(a) 3:2 HTFIE | BRIFVWAATER?
) 1:8 @) €10
(¢ 3:8
(d 4:1 (b) ¥15
{c) T20

25. UH F B 7@ 10 o weft E At 9@ 12§
maamd I A st aad @ B
o a8 87 % qu & s @ | v wHE W FW 1
¥ Ror o 6 oY ot 3 oMt T Y 6, |29 %o fww i Feffed woft 7, A, B SR

3 A i et fo i 2 C % o 7T 71 R 2

(a) 12

(b} 10 M 15 -6 2 C
() 8 4 | A | B | 60
@ 5

’ (a) 10,-30,-1
26. U Afh fordl w1 w150 Tl & QU A &

T o | 98 200 e fgw w@ () 10,-1,30
2 | 30 v g 2 % 50 Bl O 3w v =
o et A A 2w | O 70010
@ﬁrﬁ?ﬁmmﬁﬁ%ﬁ,ﬁ'ﬂﬁﬁﬁ”@w d -1-30,10

& qug ¥ @en 8 Y ?

(a) 75

(b) 85 30, UF =Afh 3 5% 9 a9 Hit s W T 5,000
© 100 3un e o T @ 55% B T W N ¢
@ 120 feu | 3 =¥ ar 391 W awE o 3 s

w9 g o | @ o 4 R feedt wmfy
27. 60 km ¥ R #Hi T & vEd g = W 1 A g3 ?

T fage @ # 30 90 § TR AR 2 | @ 7%

YeE) o e, e d wn d

(@) 300 () T 50

(b) 400

© 500 (¢} T100

(d) 600 @ %200
SPSS-T-XHI (9-A)
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31. At present the average of the ages of a father | 35.
and a son is 25 years. After seven years the
son will be 17 years old. What will be the age
of the father after 10 years ?

(a) 44 years
(b) 45 years
(¢) 50 years
(d) 52 years
36,

32. If 5 tractors can plough 5 hectares of land in
5 days, then what is the number of tractors
required to plough 100 hectares in 50 days ?

() 100
(b) 20
(¢) 10
d b5
37.

33. A merchant commences with a certain capital
and gains annually at the rate of 25%. At the
end of 3 years he has ¥ 10,000. What is the
original amount that the merchant invested ?

(a) ¥ 5120

(b) T 5210

{e) 5,350

d)y ¥ 5,500

38.
34, Which one of the following decimal numbers is
 arational number with denominator 37 ?

(a) 0459459459 . ..

(b)  0-459459459

() 0-0459459459 . ..

(d)  0-00459459 ...
SPSS-T-XHI (10-A)

The annual income of a person decreases by
T 64 if the annual rate of interest decreases
from 4% to 3'75%. What is his original annual
income ?

(a) T 24,000
(b) ¥ 25,000
(¢) ¥ 25,600
(d) T 24,600

For 0 < m < 1, which one of the following is

correct 7 |

(@) logyym< m?<m<m?
® m<m’l<m?<log,m
() logjym<m< m! < m?
(d) log,,m< ml<me<m?

A gentleman left a sum of ¥ 39,000 to be
distributed after his death among his widow,
five sons and four daughters. If each son
receives 3 times as much as a daughter
receives, and each daughter receives twice as
much as their mother receives, then what is
the widow’s share ?

(a) ¥ 1,000
(b) T 1,200
(¢} 1,500
(d)  None of the above

Three numbers which are co-prime to each
other, are such that the product of the first
two is 286 and that of the last two is 770.
What is the sum of the three numbers ?

(a) 85
(b) 80
() 76
(d) 70

https:/flwww.pygonline.com




31.

32.

33.

34.

SPSS-T-XHI

admH § w U o @ ) ong w0 Sfea
2594 R 1 W ¥ IR @ 17 T F O Swm |
1094 e fran < sy o g9ft 2

(@) 449

(b 4594

(c) 5079

@ 529

af 5 37, 5 e W Fi 5 & S §,
100 ¥RW F 50 RAl § et & o fre
SFR 1 AravEHAT gRlt ?

(@ 100

& 20

(e} 10

@ 5

s I T R G @ yeem wwa o
25% H W U affd AW TG FaT £
398 ¥ o ¥ W T € 10,000 A § |

R % I TS T S T R 2
) ¥5120
(b) ¥5210
() ¥ 5350

(d) 5,500

Srfofign cywee demel § § ag viwy e
w8 ot ® 378 2

(@) 0459459459 . . .

(b) 0459459459

(© 00459459459 . ..

(d) 000459459 ...

35.

36.

37.

38.

(11-A)

afe affs a9 o 4% | 9T 3-75% B
2, @ s afs f T W T 64 T wr)
2 | w7 arfies oI TR 2

(a) ¥ 24,000
by ¥ 25,000
(e) ¥ 25,600
d) 24,600

0 <m < 1% fou, F=ffas 4 2 s wd
27
(a)
(b)

log;om < m?<m<m!

1

m<m” <m2<logwm

1 2

(¢) logyym<m<m™<m

(d) 1

2

logjym<m™ <m<m

s = 3 7 39,000 F iy Wi, R
I T % UYET, 36 fAvEn, O gE e
=R gl | afer s 2 1 AR @ g gl
* fod #1 3 T T @, o TRw Tt @
3 A % e w1 g e 2, @ favan @
foe F 3 7
(a) 1,000
(b) T 1,200
¢y ¥ 1,500

) 39 & | HE 7d

T Feand it Th-gER & SRV §, T TER
2 7% wgeft § + eea 286 R fem @ =
TOA%E 770 8 | @ GEES W AMTRA w0
27

(a} 85

(b) 80

(e} 175

(d) 70
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39. The age of a woman is a two-digit integer. On |42.
reversing this integer, the new integer is the
age of her husband who is elder to her. The
difference between their ages is one-eleventh
of their sum. What is the difference between
their ages ?
(a) 8 years
(b) 9 years
() 10 years
(d) 11 years
43.
40. A passenger train and a goods train are
running in the same direction on parallel
railway tracks. If the passenger train now
takes three times as long to pass the goods
train, as when they are running in opposite
directions, then what is the ratio of the speed
of the passenger train to that of the goods
train ? 44,
(Assume that the trains run at uniform speeds)
(@ 2:1
(b) 3:2
(0 4:3
d 1:1
45,
41. All odd prime numbers upto 110 are
multiplied together. What is the unit digit in
this product ?
(a) 0
(b) 3
{e) 6
(d) None of the ahove
SPSS-T-XHI (12-A)

An alloy A contains two elements, copper and
tin in the ratio of 2 : 3, whereas an alloy B
contains the same elements in the ratio of
3 : 4. If 20 kg of alloy A, 28 kg of alloy B and
some more pure copper are mixed to form a
third alloy C which now contains copper and
tin in the ratio of 6 : 7, then what is the
quantity of pure copper mixed in the alloy C ?

(a) 3kg
{b) 4kg
(¢) ©bkg
(d 7kg

A quadratic polynomial ax? + bx + ¢ is such
that when it is divided by x, (x - 1) and (x + 1),
the remainders are 3, 6 and 4 respectively.

What is the value of (a + b) ?
(a) 3

(b) 2

@ 1

d -1

If the average of 9 consecutive positive
integers is 55, then what is the largest
integer ?

(a) 57
(b} 58
(c) 59
(d) 60

The average of the ages of 15 students in a
class is 19 years. When 5 new students are
admitted to the class, the average age of the
class becomes 18'5 years. What is the average
age of the 5 newly admitted students ?

(a) 17 years
(b) 175 years
(¢) 18 years
(d) 185 years

hitps://www.pygonline.com




39. UF A $I oY 3w F O WF 2 | W

40.

41,

SPSS-T-XHI

QUi % 37l 1 TWH ¥ed o W, T S
¥ ofd, J 6 s 92 €, A Ay | Im
2 | ST Y W S, I AY F THA F
e G 3 | 3 Y W S g 2
(a) 8T

(b) 9

@ 109¢

@ 1159

T Fa ME I Ao uE # fem A
HETR W S @ 8 | 3k o fuda fn
o Tl A e M, A F 9 S o
S T o, 3 N T @ 98 o ol
2 9 A gm fom F 1 @, @ wEd M
1 aifq o1 qrermet <6 fa | e w0 R 2
(7 wifoe T miEal wrawm fg & ert &)
@ 2:1

by 3:2

ey 4:3

d) 1:1

110 7 & wft fam o= el Wt
TN R S € | 99 e § 3R
3 T 82

a) O
(b) 3

) 5

(@ IR @ HE T

42,

{13-A)

ot foug AR Q sl ek A 2:3%
o # 8, Fats R o fseng B A @
TE3:4% AIOaH § | A 20 ke Fmrrg A,
28 kg g B, 71 F8 o i g ald
fremet v el gy © sd i R, Tl
atan 3tk fem 6. 7% aum & &, @ faweg c A
firetre e yg A hrAET AR 2

(a) 3kg

(b) 4kg
(c) bkg
d) Tkg

@%ﬂ'ﬁﬁa@qﬁax2+bx+c W TR & 5 5
T x, (x - 1) 3R (x + 1) ¥ Tofora foran amen 2,
7 ST FEY: 3,64 WA R | (a+b)FH
M & E 2

@ 3

b 2

(¢ 1

d -1

Afe 9 AT TR QIR 1 offed 55 8, @
wa TG U w12 2

(a) 87

(b) 58

(¢ 58

(dy 60

TF 41 F 15 OHE! 1 oY F1 oiFd 1999 B |
S w4 § 5 9¢ SE B v@y fa @ g, o
Fan & ofmg omg 185 T | I F | e
T 57T O h1 e Y w2 0

(a) 173

(b) 17-57%

) 189§

d 185T
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46.

47.

A-man can row at a speed of x km/hr in still
water. If in a stream which is flowing at a
speed of y km/hr it takes him z hours to row to
a place and back, then what is the distance
between the two places ?

(@) z (x2 —yz)
2y

b Z (x? —y2]
2x

(x% - y2)

(c) oox

@ 2%-y)
X

A water tank has been fitted with two taps P
and Q and a drain pipe R. Taps P and Q fill at
the rate of 12 litres per minute and 10 litres
per minute respectively.

Consider the following statements 81, S2 and
83 :

S1: Pipe R drains out at the rate of 6 litres
per minute.

S2: If both the taps and the drain pipe are
opened simultaneously, then the tank is
filled in 5 hours 45 minutes.

33 : Pipe R drains out (fully) the filled tank

in 15 hours 20 minutes.

To know what is the capacity of the tank,
which one of the following is correct ?

(a) S2is only sufficient

{b) 81, S2 and S3 are necessary
{¢) Any two out of S1, S2 and S3 are
sufficient
(d) None of the above
SPSS-T-XHI

49,

(14-A)

A car has an average speed of 60 km per hour
while going from Delhi to Agra and has an
average speed of y kmn per hour while
returning to Delhi from Agra (by travelling
the same distance). If the average speed of the
car for the whole journey is 48 km per hour,

then what is the value of y ?

(a) 30 km per hour
(b) 35 km per hour
(¢} 40 km per hour
(d) 45 km per hour

An article is sold at a profit of 32%. If the cost
price is increased by 20% and the sale price

remains the same, then the profit percentage

becomes

(a) 10%
(by 12%
() 15%
(d) 20%

https://www.pyqonline.com




46. TF ANF 3R §L I H x Felt/uer @@ @

T g g R | AR (), @
yrRmm R wd e, § w e
foreft gt sum o A9 I oK ImE am
T R e L

z(xz—yz}

{a)
2y

z(x% ~-y?)

b)
(b) 5

{XZ _ YZ]

c)
te 2zx

2(x? —yz)

X

(d)

47, T A A A F @ Pk QM

T 7t R e 1 & | 7@ P R Q W

¥ T 1w 12w of fime et 1o o

Yafme A A g

7 wed § frafeRen et s1, s2 3 s3 ™

formm o

S1: A R, 6 o ufa e it = F ol
fremiftn = 2 |

52 7R gl 7ol 3 Fem Toh B w Ty
wiw fen aman 2, A 5692 45 fime 1 <
W R

83: et Rl &8 &t 15 %R 20 fome g
7@ @ @l Wt R

B gwa I F fo, Prefafes § @

AW EE g 7

(a) Had 82 H T &

b 81,52 3N 83 TS

(¢ 81,523 s3% & HE off § i §

@ Iw A | B

SPSS-T-XHI

48, feeeht @ s 97 areft & FR A wa 1l

49.

(15-A)

60 Tomft ufa w1 ¢ oft armr @ feoeft amm
AW gug Igh Ifwa nfa y feft wf w5 @
(7 gt 77wt 1) | 3R gl @ & R R
e nfg 48 5t ofY g1 &, @t y = om w0
22

30 frdft iy gar
35 et wfy war
© 4 feRsRdn

45 ﬁmﬁwﬁu’fr

T a5 B 32% AW W 991 9@ 2 | 4R |
oA 20% 9% a1 & 3 fera e 9t w2,
a A A gl e 8 9 g 2

(a) 10%
(b  12%
ey 15%

d) 20%
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50. A, B, C,D and E start a partnership firm.

51.

Capital contributed by A is three times that
contributed by D. E contributes half of A's
contribution, B contributes one-third of E's
contribution and C contributes two-third of A’s
contribution. If the difference between the
combined shares of A, D and E and the
combined shares of B and C in the total profit
of the firm is ¥ 13,500, what is the combined
share of B, C and E ? (The sharesl are

supposed to be proportional to the

contributions)
(a) T 13,500
(b) ¥ 18,000
(c) ¥19,750
(d) 20,250

A Pie Chart is drawn for the following data :

Sector Percentage

Agriculture and Rural

12-9
Development
Irrigation 12-5
Energy 27-2
Industry and Minerals 154
Transport and
C L 15-9

ommunication

Social Services 16-1

What is the angle (approximately) subtended
by the Social Services Sector at the centre of
the circle ?

(a) 45°
(b) 46°
_(c) 58°
(d) 98°
SPSS-T-XHI

52,

(16-A)

The arithmetic

The arithmetic mean of two numbers is 10 and

their geometric mean is 8. What are the two

numbers ?
(a) 15,5
(b) 12,8
(o 16,4
(d) 18,2

The arithmetic mean of 11 observations is 11.
mean of the first 6
observations is 10-5 and the arithmetic mean
of the last 6 observations is 11-5. What is the

sixth observation ?

(@ 100
(b) 105
(¢ 110
(d) 115

What is sin® 6 - cos* 0 equal to for any real

number 6 ?

(a 1

(b) 1-2sin’6
(€ 2cos?0+1

(d) 1-2cos’0

https://www.pydonline.com
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50. A, B,C,D 3R E T aged o ¥& @ § (|52, < FEesl F1 i el 10 8 3R I iR
AT o TR, DER e T R | A8 | QR wend i E 2
TR | E® AWGH, A% JGH HI 37741 2,
B I 3EH, E % 3iweH % whfierd 8, ok
C# JATEH, A F AvEH 1 e ¥ | R
ot % Fa o #, A, D 3% E % dg9 =
au B R C & g7 G F I T 13,500 © 16,4
8, @ B, C 3R E = #gF foen foh 8 2 |

(a) 15,6

(by 12,8

(R, siwerl % TwTuma & 7R I ) (d) 18,2
(@) ¥ 13,500
(b) 718000 53. 11 &I &1 GG H1eR 113 | TP (359)
(¢} ¥ 19,750 6 Neguil T AT AT 10-5 & 3 3ifam ¢ Vel
(d ¥ 20,250 1 WHT H1EA 1158 | a1 S0 g 2
(a) 100
51. fmfoflan ofwegl & fou 9o (e =)
Coipikie (b) 105
87 ylavrear
11-

o oo faE | 129 @ e

féamé 125 @ 115

el 27-2

o i @fis 154

e 3 e 159 54, forel} Wﬁ:‘ﬁ@! 8 % T sinte - costo

- e a2

g Aard 16:1
gt dae H gA gs (F) gu @ s w0 @ 1
ferrg W 3ttt i (v fope @ 2

(b} 1-2sin0

(a) 45°
(b) 46° €) 2cos?0+1
¢) 58°

' (d) 1-2cos?0
(d) 98°

SPSS-T-XHI (17-A)
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556. What is cot 1° cot 23° cot 45° cot 67° cot 89°| 58,
equal to ?
(@ 0
() 1
© 3
@ 3
56. What angle does the hour hand of a clock
describe in 10 minutes of time ?
59.
(a) 1°
b 5°
() 6°
d) 10°
57. Consider the following statements :
1. (sec?0-1)(1-cosec’0)=1
2. sinB(1+cos 8 +(1+cosb)(sind)!=
2 cosec ©
Which of the above is/are correct ? 60.
(a) 1lonly
(b) 2only
(¢ Bothland2
(d) Neither 1nor2
SPSS-T-XHI (18-A)

Each side of a square subtends an angle of 60°
at the tip of a tower of height h metres
standing at the centre of the square. If  is the
length of each side of the square, then what'is
h? equal to ?

(a) 22
2
® =
312
(L‘) ?
212
d —_
(d) 3

From a height of h units, a man observes the
angle of elevation as ¢ and angle of depression
as B of the top and the bottom respectively of
a tower of height H (> 4h). To what further
height should he climb so that the values of
angle of elevation and angle of depression get
interchanged for the top and bottom of the

tower ?

(a) H-h units

(b) H-2h units
(¢) H- 3hunits
(d) H-4h units

If sec x cosecx =2, then what is
tan” x + cot® x equal to ?

(a) 2
(by 2n
(@ 2°
@ 21

https://www.pyqgonline.com




55.

56.

57,

SPSS-T-XHI

cot 1° cot 23° cot 45° cot 67° cot 89° fohEeh
T B 7

fFf udi it @ g, v F 10 e 1,

Tt faft =1 on st & 9
(a) 1°

b) &
(¢) 8°

dy 10°

frfafas s ® foen Afie .
1. (sec®f-1){1-cosec?0) =1

2. sin0®(1+cos81+(1+cosd) (sinB)l=

2 cosec 8

T 8 & I8 T 2/7 2
() Wad 1

(by a2

1 3R 23

@ TdMLAH2

(¢

(19-A)

59.

60.

58, Tt ol T3 e, 30 T % g W Bm

h fi i I9E I ™ TR F Wi () w
60° F1 H sfafa w1t 2 1 AR ot f =

o Y o /R, @ b e am g e
(a) A2
2
® =
312
(ﬂ} -2—
212
(d) 5

h ¥0% # 5918 ¥ 0F A o@dl & &
H (>4 h) $K 9t T T & ¥ ok act
TN FAA B o IR I RO R | W
amt v e den wgn =iy, aif o %
o o 7w F A B ik s P b
WA Fdeed B A 2

(a) H-h units
H - 2h units
H - 8h units

H - 4h units

TR sec x cosec x = 2 %, W tan®x + cotx
foraes s § 2

(@) 2

(b) oo+l

(c) 2°

(d) 2ol
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61.

62.

63.

If cosx+cos®x =1, then what is

sin?x + sin?x equal to ?
() 1

by 15

{c) 2

d 3

If sin A +cos A=pand sin® A + cos® A = q,

then which one of the following is correct ?
(a) p®-3p+q=0

(b) o®-3q+2p =0

(0 p*-3p+2q=0

(d pP+3p+2¢q=0

- sec” O — tan®

sec® 6+ tan®
following is correct ?

If x , then which one of the

(a) %<x<3
1
(b} -3
”[3 }
{c) —Scxc—l
(d) §Sx£3

ABC is a right angled triangle with base BC
and height AB. The hypotenuse AC is four
times the length of the perpendicular drawn to
it from the opposite vertex. What is tan C
equal to ?

@ 2-43
®  V3-1
© 2+43
@ J3+1
SPSS-T-XHI

67.

(20-A)

ABC is a triangle right angled at C with
BC = a and AC = b. If p is the length of the
perpendicular from C on AB, then which one

of the following is correct ?
(@) a’b?=p?(a?+bd
(b) a?b?=p?b®-a?d
(@ 2a2bh%=p?(a%+b?
(d a?b?=2p?(a? + b?)

The radius and slant height of a right circular
cone are 5 cm and 13 cm respectively. What is

the volume of the cone ?
(a)  100mem®

(b)  50m cm®

(¢) 65mem®

(d) 1697 cm?

Two equal circular regions of greatest possible
area are cut off from a given circular sheet of
area A. What is the remaining area of the

sheet 7

(a) A2
(b) Af3
(0 3A/5
d 2Af5

If the ratio of the radius of the base of a right
circular cone to its slant height is 1 : 3, what is
the ratio of the total surface area to the curved

surface area ?

(a) 5:3
b 3:1
{¢) 4:1
(d 4:3

https://www.pyqonline.com




ABC @h fiy@ § 9 ¢ W vt 2, wiEl
BC=a3M AC=b2 | e C¥ ABW @4 I
ae o9 H FE p 3, @ Fefafes § @
FH-A TG R 0 ‘
(a) a?b?=p?(a®+b?
() ab?=p?(b?-ad)
©) 2a%b%=p?(a®+b?
(d) a®b?=2p®(a%+b?

66. frdl Ta.geim g H B=n o et Fom

6l. I cos x + cos®x = 18, @ sin? x + sin? x [65.
formes s & 2
(a) 1
(b 15
() 2
(d) 3
62. HﬁsinA+cosA=p3ﬂ'{sin3A+c033A=q%,
a Frafafga 4 @ SR a8 2
(a) p’-38p+q=0
() ¢°-8q+2p =0
(¢) p®-3p+2q=0
(d p*+3p+2q=0
6. R x = 0710 o o Prfan ¥ 3
- A x= g F
gec“ D+ tand
FHATE ] 7
1
{a) §<x<3 6.
1
. Ly
(h) xﬁ{g,}
1
-3 _
(c) <X« 3
(d) %st3
64. ABC T www Brge & T smm BC sl
o AB R | F AC 6 @, wrpe o @
W W R T aE f e B IR T R 1 es.
tan C fororeks SR 2 7
(a) 2-43
»  3-1
€ 2+43
@ V3+1
SPSS-T-XHI (21-A)

N 5 cm 3 13 cm B | W H ARRH e
22
(a)
(b)
(¢) 657 cmd

@ 169x% om®

1007 cm®

50% cm®

A §T% IR U AR § gEE (Wl W)
UYe BT & Q) SO I & #1e 9d ¢
=TEt 1 9T SEEH F41 B 7

(a) A2

by A3

c) B3A/5

d) 2A/5

IR w wEgdE u% F MuR i fem @
o) o o F ogum 1: 38, @ F@
T SFHE T T YR §AA § IR 1
29

(ay 5:3
b 3:1
¢) 4:1
@ 4

¥

13
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69,

70.

71,

SPSS-T-XHI

A right circular cone is sliced into a smaller
cone and a frustum of a cone by a plane
perpendicular to its axis. The volume of the
smaller cone and the frustum of the cone are
in the ratio 64 : 61. Then their curved surface
areas are in the ratio

(a) 4:1
(b) 16:9
(¢) 64:61
(d) 81:64

In a room whose floor is a square of side 10 m,
an equilateral triangular table of side 2 m is
placed. Four  book-shelves  of
4m x 1mx9m are also placed in the room.
If half of the rest of the area in the room is to
be carpeted at the rate of ¥ 100 per square
the cost of carpeting

size

metre, what is

(approximately) ?
(a) ¥ 1,600

(b)
(e} 4,113
(d) ¥ 3,200

5,635

A region of area A bounded by a circle C is
divided into n regions, each of area A/n, by
drawing circles of radii r,, r,, Iy, ... I,_; such
that r; <1, < 14 <. 1 _; concentric with the

I'm+1

circle C. If p, = wherem =1, 2, 3, ...

T'm
(n - 2), then which one of the following is

correct ?
(a)
(b)
(¢}  premains constant as m increases

(d)

p increases as m increases

p decreases as m increases

p increases for some values of m as m
increases and then decreases thereafter

72.

73.

74.

75,

(22-A)

What is the volume of a cone of maximum
volume cut out from a cube of edge 2a such

that their bases are on the same plane ?

(a) na®

o =
(e 2“;3
(@ 3";3

The radii of two circles are 45 cm and 35 cm
respectively. The distance between the centres
of the circles is 10 ¢em. What is the length of

the transverse common tangent ?

(a) 4cm
(b) bHcm
(¢) 6cm
(d) Tcm

There are as many square centimetres in the
surface area of a sphere as there are cubic

centimetres in its volume. What is the radius

of the sphere ?
(a) 4cm
(b) 3em
(¢) 2cm
(d lem

The length of a line segment AB is 2 cm. It is
divided into two parts at a point C such that
AC? = AB x CB. What is the length of CB ¢

(@) 3v5em
b 8- +5em
(¢ 5+3em
(d V5-lem
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69. UF TR YF W, Ik H¥ W TN

70,

?l.&

SPSS-T-XHI

T * g, TH Bl UF R P + foaw o
AW | DR TP AN TH & fouE F
A 64 : 61 F AT F F | A Fh Tk
qe gt T arqua W € 2

(a) 4:1

(b) 16:9

(c) 64:61

(d) 81:64

fort @ A, Fome w1 10 m Yo 00 T
2, 2 m ¥ Treft o gy Benf A Tl
I FI A 4mx1lmx9ImP AER H
gt ) 9R aremiiar of w18 2 | A we
% o0 99 &9 F M 9 A U e s
w2 feef e 100 vfe @ e B, @
FIeT TR w1 e () fRe g o

(@) ¥ 7,600
(b) ¥ 5635
(€ T 4,113
d) ¥ 3,200

9 C 3 uiEg, A §96E I UF &1 H n
wugt A faurfa fen man 8, o1 o= @ve =
gT6 A 8 | $ T, rp 1y 1oy
il @t ¢ & ¥l 99 39 VPR o M E

Tm+1
%1‘1(1‘2-(1*3(...1”““1%|aﬁ‘pm= ks N

'm

T m=1,23 . 0-2%8 @ fafgg i3
TR R 7

(@) m% g & TY-HY p ¥t wEa g

(b) m¥GA A p v 2

(©) m¥FG R A p IR (fER) wa &

(d) Wmm%iﬁmﬁqﬁ%mp
Tgd1 § 3R 35% =g WA R 3

(23-A)

72, 2a N AN T Fl FR TH UF W TR

T AfF IR R A § &, A
W YHR T4 U a1 A oA
w1 g 2

73, 3 i H B R 45 om M 35 em F |

gl % gl % @ B gl 10 om R | Y
Tyt el 6l oerd R 7

(a} 4em

{(b) Hem

(¢} 6Bem

{d) Tem

74, T A F TSH &FFA § I @ @ AR

& e fop gk o W o AR E | e
CIREES K “
(@) 4com
(b) SJem
() 2cm
(d) 1cm

75. T W@Ee ABH @l 2emR (TR CRA

i ¥ T verR fwRm wa 2 fE
AC?2=ABxCB? | a5 CB & Ta ¥ & ?

@ 3J5cm
b 3-5em
(© 5v3em
d) V5-1lem
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76. The locus of the mid-points of the radii of

length 16 ¢m of a circle is

(a) A concentric circle of radius 8 em
(b) A concentric circle of radius 16 cm
(c)  The diameter of the circle

(d) A straight line passing through the
centre of the circle

77. The curved surface area of a right circular
cone is 176 m? and its base diameter is
140 ecm. What is the height of the cone ?
(a) 10em
(b) 10v2em
(© 20v2cm
(d 10J/15em
78. Consider the following statements :
1. The orthocentre of a triangle always lies
inside the triangle.
2.  The centroid of a triangle always lies
_ inside the triangle.
3. The orthocentre of a right angled
triangle lies on the triangle.
4.  The centroid of a right angled triangle
lies on the triangle.
Which of the above statements are correct ?
(a) land?2
(b) land4
{¢) 2and3
(d) 2and4
79. The locus of a point equidistant from two
intersecting lines is
(a) A straight line
(b) Acircle
(¢) A pair of straight lines
(d) None of the above
SPSS-T-XHI

80. Consider the following statements :

81.

82.

(24-A)

Two triangles are said to be congruent, if

1.  Three angles of one triangle are equal to
the corresponding three angles of the
other triangle.

2. Three sides of one triangle are equal to
the corresponding three sides of the
other triangle,

3.  Two sides and the included angle of one

' triangle are equal to the corresponding
two sides and the included angle of the
other triangle. -

4.  Two angles and the included side of one
triangle are equal to the corresponding
two angles and the included side of the

other triangle.
Which of the above statements are correct ?
(@) 1,2and3

(b) 1,3and4
() 1,2and4
(d 2,3and4

Given that the angles of a polygon are all
equal and each angle is a right angle,

Statement-1:  The polygon has exactly four
sides.
Statement-2:  The sum of the angles of a

polygon having n sides is
(3n - 8) right angles.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement-1 and Statement-2 are
true and Statement-2 is the correct
explanation of Statement-1

(b) Both Statement-1 and Statement-2 are
true but Statement-2 is not the correct
explanation of Statement-1

(¢) Statement-1 is true but Statement-2 is
false https://www.pyqonline.com

(d) Statement-1 is false but Statement-2 is
true

If the length of a side of a square is increased
by 8 em, its area increases by 120 square cm.
What is the length of a side of the square ?

(a) 26cm

(b) 35cm
cy 45cm
(d 55cm

https://www.pyqgonline.com




76.

71.

78.

79.

SPSS-T-XHi

(a)

16cmmﬁ@fﬁﬂmﬁm§ﬁ?ﬁﬁﬂ3ﬁ
% nea-feg i 1 feguy 2

(a) 8cm B F1 T wH g

(b) 16 em TN 1 T ) 99

(c) T H U

(&) T F I § [ T U W @
T TE-gHE UF F aH TEE ETFA 176 m?

? 3 S SR F AW 140 om B | WF |

JEEENe Y
{a) 10cm

(h) 1042em
¢/ 20v2cm
(d)

freferfiaa weAt w feram i

1. UF fe % ¥ & gwm 3| e ¥
TE g 2 |

2. UF Fd F1 FE FAw 39 Bge o
A2 ?

3. U EWEM G H o g 3 Bye W
oo g1 2 |

4. T o OF W Fw W BYE W
fm e |

I A A B R E 7

132

(b) 134

(© 23R3

d) 234

& wfeeadt Tarelt & wam ol W feem foig
foiguer 2

(a) T WA @l

(b) TH e

(c) WA @l F TH I

(d) IwgEd § & w7

10 V15 cm

g0. fmfafiga #uai w fa=m Hifse .

81.

82,

(25-A)

21 B wafmem 2 914 8, 9

1. U o & @ sw g B %
19 I % TTE |

2. Fga 1 A @ g ) e
d19 yaraT & e A |

3. T ge i @ Yot oit IS i RO
T Brqe it g @ et e I
FAd P07 T A |

4 ThTE % § T oa 6 @A A
Zat Bye % 9 91 O qd IF S
N % T |

I Fel § A HAE w0

(a) 1,23ﬂ‘(3

() 1,334

© 1,234

(@) 2,334

fem mn 2 fop v wgy@ & wft FW TN 7

3 e HIV TH TR R |

FYy7-1: FRYF F1 I TN Y& 7 |

FI7-2: n YA T ® SO

ANTHS (3n — 8) GBIV BT & |

e #oAl % wed #, Frfafes O & FRm

R 2

() HA-13R Fo-2 31 TR 7, 70 F2-2,
FUA-1 1 TE s A

(b) FYH-1 A FW-2 A Th §, WA
FYH-2, FA-1 HI T e T 2

() HYH-19E 7, AT FUA-2 T 2

(d) FU-1 T 8, HFA FOA-2 TE A

afg w ol H g H &M 8 em T & A,
IR SAEE 120 em? §¢ O | A FH
&) TS R 7

fa) 2:5cm
(b)  3BHem
(¢c) 4Hcm
(d) 55em
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83.

85.

What is the largest power of 10 that divides
the product 1 x2x3x4...x23x24x257?

(a) 2

(b) 4
() b
(d) None of the above

Walls (excluding their roofs and floors) of 5
identical rooms having length, breadth and
height 6 m, 4 m and 2:5 m respectively are to
be painted. Paints are available only in cans
of 1 L and one litre of paint can be used for

painting 20 square metres. What is the|

number of cans required for painting ?
(a) 10

by 12
{c) 13
d) 14

A rectangular pathway having width 45 m
and length 10 m will have to be tiled using
square tiles of side 50 cm. Each packet of such
tiles contains 20 pieces and costs ¥ 100. What
will be the total cost of tiles for the pathway ?

(a) ¥1,200
() T 1,100
(¢ ¥ 1,000
(d ¥ 900

A cube of maximum volume (each corner
touching the surface from inside) is cut from a

“sphere. What is the ratio of the volume of the

cube to that of the sphere ?

https://www.pygonline.com

87!

If the ratio of the circumference of the base of
a right circular cone of radius r to its height is
3 : 1, then what is the area of the curved
surface of the cone ?

(a) 3nr?
b) 2rtr21,)4fr2 +9
3
rrr21ln2 +1
(¢ ———
3
@ e 431t2 +9

A wire is in the form of a circle of radius
98 cm. A square is formed out of the wire.

What is the length of a side of the square ?
(Use m = 22/7)

(a) 146cm
(b) 152cm
{©) 154 cm
(d) 156c¢m

Consider the following for the next two (02)
questions :

89.

90.
(a) 3:4n
b  V3:2n
() 2:+/3n
(d) 4:3=
. SPSS-T-XH| (26-A)

In a triangle ABC, a, b and c are the lengths of
the sides and p, q and r are the lengths of its
medians.

Which one of the following is correct ?

(&) 2(p+q+r)=(a+b+c)

() 2(p+q+r)>3(a+b+c)
(¢} 2(p+q+r)<3(a+bh+c)
(d) 11(p+gq+r>10(@+b+c)

Which one of the following is correct ?

(a) (@a+b+c)<(p+q+r1)

(b) 3(a+b+c)<d(p+q+71)
(c) 2(a+b+c)>3(p+q+1)
(d) 3(a+b+c)>4(p+q+1)




83.

85.

86.

ST 1R 2 90.
(a) 3:4n
(b) 3:2n
(€ 2:3n
(d} 4:3m
SPSS-T-XHI (27-A)

10 1 Trwam ar w1 3 A e
1x2x3x4..x923x 24 x 25 F fonfom st
27

(a) 2

(b) 4

() 5

d) Ivdem d A HE T

T N 5 i H dan (el Ta a9 B
oisw) ol oen, e aw e wE:
6m,4m3N 25me, Wi R a8 1 G
Fadt 1 ofiw F fe=ut d Iverey ¥ oK & A
Y2 1 39 20 @ #eX H TH A fRm
Thdl 2 | Y FH & foe omavas fest i

HE g 2

(a) 10

(b) 12

() 13

d 14

T AR 7 St el 45 m 3R o

10 m 8, ¥ 50 cm Y & WIHR T30 ATH B |
T8 Eel & e Y9 20 A € ol 3w
Fa = 10028 | A1 & o el B gt
1 7T 2

(a) ¥ 1,200
(b) ¥ 1,100
() ¥ 1,000
(d) T 900

& e ¥ 31fisan o &1 0 o1 (Rt
TA® HIAT W F M H GAg H W
2) S TR | W AW M A

87.

88.

IR B ¢ % & e U F AT H
it qen FEeht S H EE 3018, O TS

& 5 53 H &R 791 8 ?
(@) 3mr
(b) 271::'2‘!4112 +9

3
© mrlyn? +1

3
@ rtr2‘.i4n2 +9

3

Th R, 98 cm H B F 90 F FFR F 2 |
AR UH @ R | @
FI T TR 7 (7= 22/7 T T@W Hifw)

(a) 146cm

(b) 152cm

(e) 154 cm

(d) 156cm

oA 7 (02) TV & forp Rafefes w fRen
FHaT:

89.

T P ABCH, a, b 3R ¢ ynait i wmangat &
3 p, q 3N r gwh! TfEaTel i Tl § |

fFefafea € @ SH-w a@ R 2

(a) 2(p+q+r=(a+b+c)

) 2(p+gq+r)>3(a+b+c)
() 2(p+q+ri<3(a+b+e)
(d 11(p+q+r>10(a+b+c)

fFrefafea d @ sRm adi 8 2
(a) (a+b+c)<ip+q+r)
(b
(
(

—

3(a+b+c)<d(p+q+r)
¢c) 2{a+b+c)>3(p+qg+r1)
d 3(a+b+cl>4(pt+q+r1)
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91.

92,

93.

SPSS-T-XHI

What is the area of the largest circular disc

cut from a square of side 2 units ?
of side

(a)

T square units

(b) 1square unit

(c) = square units

(d) 2 square units

The product of the lengths of the diagonals of
a square is 50 square units. What is the length

of a side of the square ?

(a) 542 units

5 units

(b)

{¢) 10 units

(d 245 units

The surface area of a closed cylindrical box is
352 square cm. If its height is 10 cm, then
what is its diameter ? (Use n = % )

(a) 4em
(b) 8em
() 912cm

(d) 1926 cm

https://www.pygonline.com

94.

95.

96.

(28-A)

A square and an equilateral triangle have the
same perimeter. If the diagonal of the square
is 642 cm, then what is the area of the
triangle ?

(a) 122 cm?

(b) 1243 cm?

(¢) 162 cm?

d) 1643 cm?

What is the area of the region bounded
internally by a square of side of length ‘a’ and
externally by a circle passing through the four

corners of the square ?
(a) (z-1)a?square units

(n-1)a’

b
(b) 5

square units

(©)  (n-2)a®square units

(n-2)a’

(d) 3

square units

In the figure given below, XA and XB are two
tangents to a circle. If £ AXB = 50° and AC is
parallel to XB, then what is £ ACB equal to ?

(a) 70°
(b) 65°
(c) 60°
(d) 55°




91. w%m%aﬁﬁﬁmﬁmmaﬁ% W @ 3R wEg Bye W o
21 AR o = ol 642 cm%,ﬁﬁ'ﬂﬁﬂﬂ

T a2 geia fowh w1 et Fn @ 2 v 5 2
(a) = 97 THTE @ 1242 em?
(b) 18T T (b} 123 cm?
) n2al s © 162 cm®

) 1643 em?
(d) 2o 3R

95. I0 &F I &A% 1 2 Al HeX @ FAIE @ B
Yo A an @ ofeg R ok e A 3w oAt %
02. W T ¥ Ryl ) carE % EwE 50 7 T FE R A T T g R 2

D (r 1) 2
B R 6 S NP N, (a) (n-1)a® o gord
o *=De’ CURCOH

| 2
(a) 52 TFR
© (n-2)a? el
(b) 53N (n-2a? _
G)) ; CURCAE
© 1038

96 TRt mMfEE xAM B FHD
@ 2v5 THR wviEnd § | Al £ AXB = 500 3t AC, XB ¥
BHT B, @ £ ACB foresh st 2 2

93, TH &g ATHIHN T w1 TSN S 352 o
adter 2 Iqﬁmm lﬂcm%,?ﬁm
mw%?(n=¥m%) |

(a) 4cm
(h) 8cm @ 70°
(b) 65°
(¢) 912cm © 60
(d) 1926 ¢m (d 55°
SPSS-T-XH| (29-A)
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27.

98.

In the figure given below, p, q, r are parallel | 99.

lines; / and m are two transversals.
! m

A D

< B \ﬁ ,q
J L
J |

Consider the following :

1. AB:AC=DE:DF

2. ABxEF=BCxDE

Which of the above is/are correct ?
(a) lonly

(b) Z2only

(c¢ DBothland2

(d) Neither 1 nor 2

F 3

»P

~

In the equilateral triangle ABC given below,
AD = DB and AE = EC. If [ is the length of a
side of the triangle, then what is the area of

the shaded region ?
A
D E
B C
343 I
(a)
16
312
b 2
(b) 16
33 12
(c)
32
312
R )
(d) 27
SPSS-T-XHI

(a)
(b)
{c)
(d)

100,

(a)

(b)

(c)

(d)

(30-A)

https://lwww.pygonline.com

In the figure given below, SPT is a tangent to
the circle at P and O is the centre of the circle.
If Z QPT = a, then what is £ POQ equal to ?

T A
]
-~ v

o

20

90° -«
180° — 2a

In the figure given below, two equal chords cut
at point P. If AB = CD = 10 ¢cm, OC = 13 em
(O is the centre of the circle) and PB = 3 c¢m,
then what is the length of OP ?

5cm

6 cm

ZJﬁcm
2J8_'?crn




97. AR R m R #, p, g r G e ¥ 1|99, R Ry mu fm #, SPT, P W gw ) wudiwn
! m £ POQ fruss sgat 2 0
* 7/ \\D » P
< 7 k »
* Cj f‘ »>T 8
et w famm Hife @
1. AB:AC=DE:DF a e
2. ABXEF=BCxDE b 2
I § & FH/Q e /e
(a) 1 © 90°-a
(b) a2
(¢ 13 2a (d) 180°-2a
(@ TALIR2
98, A i 7y wwTg F ABC #, AD = DB ai 100 T UM o, 7w et g P w
AE=ECY R B B Bwady| TR0 8 | W AB=CD=10cm 0C =13 em
2, T owifHa &3 1 v w0 (30 #1 P g 07) M PB=3emR, A
OP I T T 8 ?
343 12
(a) T -
16 ® 6em
o 3B
32 © 2v29em
32
@ 32 @ 2vV37em
SPSS-T-XHI

(31-A)




W 7% ATIHT g AT AT @Wierd &1 7 &gT A1 a7 7% 7 et

Zt, &ft. . : SPSS-T-XHI ufterr gfeent e

wfierur gferen
TR i

g : 3 avd qurfas : 100

g
Tt TREH g o U W1E, M9 30 gdier giten Y ugare sayd w o fb g e e e,
mmqaganqwm;umm,anﬁﬁg‘rI‘dﬁ?{m%,?ﬁ‘sﬁuawﬂamgfﬁimﬁaaﬁr-ﬁﬁml
Fuat @ @ % OMR TR-goe o, 3hm e w, 39 7= oK witewr gl (df=
®1Z) A, B, C T D H, F A v fan fonelt o6 a1 foemfa & st ofR & & Rreerd
Ifigar i1 2 | et ft e Y g /R & fearfa ® swoasres e e feen smam |
79 Tt giees W ary § R e e #§ st ar
AT fE & | whew gferm w ek o T fod |
w viem gfem § 100 A (399) fg e # 1 s A Rl sk oneht QR A vw R | =
Te SR e (IW) Ry F | i | Uk YW R G o, R o I W sifEd e
wTgd ¥ | afe suet vm v o @ arfte Yo wd €, @ 3U o # 3R S TRt Fatae
T | TRF T % o Faer vt T TR |
TR T T TR e ¥ Ry T s W A ifEd w # | swer A R e fdw e |
A4 T F T FAH ¢ | |
58 TEe fok 3ty wheor it 3 fafim gt 3 o SoTEe W Sifkd T IE W, I 5aw
yHLE % g R agee F 7R $O fram smmm A R E ‘
Y I T F ITF § WA F 92 ad1 W08 P GUE W FFT IH-TFF g R
T 2 | R AT Ty e gftae & 9 6 orgafa 7 |
= FW ¥ U o g gt & o § 9o 8 |
Tea It % o gue
FegfE weA-uAi # Fwigan g fig o et e o forg gu fian wmom |
() welw W % e an dsicus I 3 | IuficEr g T T & e R v mem TR F R v
¥ g fore o ot o1 wen-fard gug & w9 ° w1 9w |
Gi) af w1 Inficam o § fie I 3 R, @ 3@ e W urn e, Il Ry e I 6 @ w 3w
g g 8, T ot 38 W < fer sudehigam € 3 e Qg fean wmom |
(iii) R Iofieam gr W A v T e e 2, s Infican gro I TE R v R, A S oE F
for g qus i foan s |

T 7 HATTH} T AT YIS @ B T FFT Y AT 7F T Qe

Note : English version of the instructions is printed on the front cover of this Booklet.
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